Lab 21 : Experimenting with Testing (Part I)

Name:                              Email:                   JAC#:

Part 1. Black-Box Testing

1.3. 

    What code did you write?

	import java.util.*;
public class TestInverse
{
   
public static void main (String [] args)
{
   Scanner keyboard;
   double answer, originalNumber;



   keyboard  = new Scanner(System.in);


   for (int i = 0; i < 10; i++)  
   { 
      System.out.print 

       ("Enter the number whose inverse you would like: ");
      originalNumber = keyboard.nextDouble();
      answer = Calculator.inverse (originalNumber);
      System.out.println 

(" you entered " + originalNumber + 

         " its inverse is " + answer);
      System.out.println ();
    }
  }
}


1.5. 

    What values (if any) caused inverse() to fail?

	NONE    - I didn't count getting infinity as an answer as an error


1.7. 

    What code did you write?

	import java.util.*;
public class TestPercent

{
  public static void main (String [] args)
  {
     Scanner keyboard;
     double answer, numerator,denominator;
     keyboard  = new Scanner(System.in);


     for (int i = 0; i < 4; i++)  
     { 
 
System.out.print 

           ("Please enter a numerator and denominator ");

System.out.println

          ( " and I will find the percent of numerator/denominator ");

numerator = keyboard.nextDouble();

denominator = keyboard.nextDouble();
        answer = Calculator.percent (numerator,denominator);
    
System.out.println 
         (" numerator: " + numerator + " denominator: " + denominator +
   
   " percent: " + answer); 
        System.out.println ();
      }
      // tests
      answer = Calculator.percent(Double.MAX_VALUE, 0);
      System.out.println ("Double.MAX_VALUE, 0:\t" + answer);
      answer = Calculator.percent(0.0001, Double.MAX_VALUE);
      System.out.println ("0.0001, Double.MAX_VALUE:\t" + answer);
      answer = Calculator.percent(0, Double.MAX_VALUE);
      System.out.println ("0, Double.MAX_VALUE:\t" + answer);
      answer = Calculator.percent(Double.MAX_VALUE, 0.0001);
      System.out.println ("Double.MAX_VALUE, 0.0001:\t" + answer);
      answer = Calculator.percent(Double.MIN_VALUE, 0);
      System.out.println ("Double.MIN_VALUE, 0:\t" + answer);
      answer = Calculator.percent(0.0001, Double.MIN_VALUE);
      System.out.println ("0.0001, Double.MIN_VALUE:\t" + answer);
      answer = Calculator.percent(0, Double.MIN_VALUE);
      System.out.println ("0, Double.MIN_VALUE:\t" + answer);
      answer = Calculator.percent(Double.MIN_VALUE, 0.0001);
      System.out.println ("Double.MIN_VALUE, 0:\t" + answer);
    }
}


1.9. 

    What values (if any) caused percent() to fail?

	0.0/0.0 
1.0/0.0  


1.10. 

    What symptom made you realize that percent() method failed?

	0.0/0.0 gave a result of  NaN    

1.0/0.0 gave a result of Infinity  


1.11. 

    Can you test for this symptom in Java?  (Don't guess; add code to

    your driver and see.)  Show the code you added in the box below.

	Double.isNaN(Calculator.percent(0.0,0.0));


Part 2. Clear-Box Testing

2.3. 

    What errors (if any) did you find?

	None


2.4. 

    What oracle could you use to test the arithmetic()

    method?  (Note: An oracle is a component that can be

    used to verify the function of another component.)

	compute the answer using  answer = (n)*(n+1)/2


2.6. 

    Did you detect any failures?

	yes  , it doesn't work for negative numbers.


2.9. 

    What failures did you find and what faults did you correct?

	The answer was always 1.0 
If I changed the denominator from an int to a double, the answer was correct.


